Solve the Problems! Answers

1. 5 x 10 =50 sweets
3x 5= 15 bricks
7x2=14eyes
4x5=20legs

8x 10=80p
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Sweetie Share Answers

1. 2 sweets each
3 sweets each
3 sweets each
5 sweets each
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2 sweets each

Challenge

Children should start to think about the concept of a ‘remainder’. Sharing 9 sweets between four children
would result in 2 sweets each and one left over. There are many other examples which children can find by
exploring the sharing of different numbers of objects between different numbers of people.
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